18 H23
1,760 7%
L=1,760m L<s00m
3 N=2 18
20 18
H23
B/C( )=2.3 H23
18 5000 0 0 4 2950
1,170
R L=1,170m 38 85% 22 85
L=1.170m 120
6 L 400
- 14 m 120 H22
3 25
B/C( )=13
13 5000 5000 7000 1 9950 3
L=1,000m 304 H22
_ H23 22
L=2,000m L a50m
N=4 N L=1,550m
- L=21m
N=2 22 8 2
H22 H3l
B/C( )=2.2
13 6500 4 1580 1 9 4920




L=2,440m

90%

21

22
L=1,780m _
L=660m L=1,780m 23
N=7 N=1 21
H11 H25
B/C( )=8.4
9 9000 0 0 9190
_ 20
L=2,800m 30% H23
L=2,800m _ _
N2 L=280m L=300m L=2,000m
1 N=1 21
H17 H28
B/C( )=10.3
36 1 1753 2 24 9660




) H22
53 H23
L=31,667m
L=11,416m
H20
L=15.251m L=11.416m
_ L=1,100m
L=4,100m L2900
L=900m =500m S62 6 H7 H12
JR 1 H11 6 H14 H18
S37 H30 L=25m H18 7 H18
H22
H21 8 H22
H18 7 H18
H22
161 6700 4000 2 9410 75 1100 B/C(
L=8,500m
L=17,000m 56%
L=17,000m
N=3 L=10,250m H20
N=26 L=72m L=175m N=1
N=13
S26 H30 H20
B/C(
54 9300 2 3793 2 9000 24 4010




L=6,800m
L=17,600m 72%
L=17,600m
N=5 L=7,370m
N=7 30 50 N=5 H20
N=3
S16 H30 H20
8
B/C( =79
236 1410 1 3745 5000 65 9050
L=5,900m
L=5,900m 78%
L=11,800m V=83,030m3
N=89 L=1,400m
N=13 N=2 H20
N=11
9 S42 H30 H20
H23
B/C( )=7.9
21 5060 4 7840
87%
L=6,400m '
L=12,800
= = = H20
s24 H30 L=50m L=100m L=830
10 H20
B/C( )=7.9
52 9480 5000 9750 6 6540
L=12.23km 95%
100 120
12.23 N1
23
11
52 27
B/C( )=4.1
222 5000 2 3270 2 11 1280




12

L=3,980m
L=3,980m
N=13

L=1,868.5m
L=1,868.5m
N=11

L=3,000m
L=3,000m
N=16

S35 H30

L=1,800m
N=13

79%

194 9300

41 1920

20

B/C(

23

13

L=229m,D=10m

L=150m,Vv=300,000
3
2
1995 D 150

H11 H26

2

L=199.5m
D=15.0m

L=199.5m
D=15.0m

2
L=199.5m D=15.0m

48%

39 9900

3 7000

17 2900

58
20

22
B/C(

)=2.1

62

62




2,700m - 1,100m
L=2,700m L=800m 900m
L=2,700m L=800m
5 _ _ 1
3100m | L54%0m L=60m 1,136m
14
B/C(
26 5000 1 1200 1 4000 4 5000
14 1102 6650 17 6341 15 4160 292 6310




3.0%

L=340m
L=340m 1 1 L=340m
H21 H26 H18 7 H18
H22
B/C(
16 2000 2000 15 6000
23
” 88% 1 153
L=423m _ _ _ H23
L=423m N N N
N=3 - _ 11 6 30 16 10 20 H23
H17 H23 L=24m L=103m 21
18 7
H21
B/C(
4 1700 4000 3800 5000
L=405m 18
405m 17% 7
2 _
238m L=190m
40m
16 23
H16 H29 H21
B/C(
4 8560 4000 1900 4 251
25 260 1 7700 20 1251




39%

L=100m _
N=1 N=2 N=1
18 7
H2l H24 L=80m L=40m
B/C(
4 9000 1 5000 1 1408
4 9000 1 5000 1 1408




